Foundations of Math 11 - Nov. 16th.notebook November 20, 2017

Thursday, November 16th

- today you will be completing an in-class assignment...
done individually but can use your notes/text.
_Assignment - Angle Properties.pdf

- when finished, pass in to the folder up front.
- begin working on the following questions from the text...
HOMEWORK: p. 104 #1 & 2

p. 106 #1 -5
NOTE: Give period 5 this to do over the weekend since they

are missing tomorrow's class for BBall game...

~ Assignment - Logical Thinking Nov. 2017.pdf
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Questions from last week...

HOMEWORK: p. 104 #1 & 2
0. 106 #1 -5

1. Kamotigs are sleds that are dragged behind
vehicles, such as snowmobiles, over snow and
sea ice. Identify a set of parallel lines and a
transversal in the photograph of a kamotiq.

5. Determine the values of 2.4, and c.
&_\a - — 30\ /’ 0’20‘ - /80,
Jo = 14D

& 5
m:?)b

- 76 )
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Geometric Proofs... The "Two-Column Proof

Key Terms (in your notes). Notes Chp. 2.pdf

@ductwe reasoning proof transitive property
Drawing a specific conclusion A mathematical argument If two quantities are equal to

through logical reasoning showing that a statement is | | the same quantity, then they
by starting with general valid in all cases, or that no are Ef]LJﬁ.l to each Qt+1er. ‘
assumptions that are known counterexample exists., fa=bandb=rc, thena=rc.

Qbe valid.

TR Eea N _STATEMENT | JUSTIFICATION _

A presentation of a logical
argument involving deductive
reasoning in which the
statements of the argument are
written in one column and the
justifications for the statements

@wrltten In the other coluny
[ ]
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***ADD this one to your notes...

7 converse N

A statement that is formed
by switching the premise and
the conclusion of another
statement.

N— _/
EXAMPLES... {remise

Conjecture: |f it is raining outside, then the grass is wet.
CONVERSE: If the grass is wet, then it is raining.

(/7/\(,[“9" ”

THEOREM: If you have parallel lines, then the corresponding angles are equal.

CONVERSE: If the corresponding angles are equal, then the lines are parallel.
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p. 29
EXAMPLE 4 Using deductive reasoning to prove

a geometric conjecture

Prove that when two straight lines
intersect, the vertically opposite angles

are equal.

Jose’s Solution: Reasoning in a two-column proof

Statemgent Justification

LAE( X LAED = 180° Supplementary angles 9f SA /
,_f AFEC = 180° — LAED 79uhtmcnon propercy

‘ L AED = 18(° Supplementary angles S A T
BED = 180° — ZAED ) Subtraction property

= LBED Transitive property
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Example #2: |
—~ L) S 7LD OV uﬂ/ F ’
NoLE: 2 62000 U058 el ™ N

/p CA OATA O (I / \—
InAEFG, (ﬂ bisects /FGH /\ \5 3
a) If LE = Zy,then provethat EF || GI E‘&) : G : H

Statemert Jus k& cafion

4534\7 Gl'ven
£oLy-lr | Bt
¥ //o\ml'JerL
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In AEFG, Gl bisects Z/FGH

£ /
b) If LF = Zz,then provethat EF || GI e /

/ \ _,
D)

- ”

' |

Stdemat | Tushiboatio
Ay: L L %MQC?L
LF=LlE

(uven |
LF: L T/mf\gﬁL,w,

I ((\C?f | ALA
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APPLY the Math /

EXAMPLE 1 Reasoning about conjectures involving
P. 75 angles formed by transversals

Pull for
Lesson
Notes

Make a conjecture that involves the interior angles formed by parallel lines
and a transversal. Prove your conjecture.

Tuyet’s Solution /
/

My conjecture: When a transversal intersects a pair of parallel lines, the
alternate interior angles are equal.

alternate interior angles

Two non-adjacent interior angles

> 2 ( ] on opposite sides of a transversal.
3)4 | drew two parallel lines and a

transversal as shown, and | numbered
the angles. | need to show that

rF s

.\}3 = /2.
Statement | Justification
£1 = £2 | Corresponding rSince | know that the lines are
angles 0 parallel, the corresponding angles
| are equal.
£1 = /3 |Vertcally -
opposite When two lines intersect, the opposite
angles \__angles are egual.
s .~
£3 = /2 |Transitive £2 and £3 are both equal to 21,
property s0 £2 and 23 are equal to each

My conjecture is proved. ,\Hother.
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EXAMPLE 1 Reasoning about conjectures involving
angles formed by transversals

Make a conjecture that involves the interior angles formed by parallel lines

'E,Ll'ld a transversal. Prove your COﬂjECtLlI'E.

Ali's Solution

My conjecture: When a transversal intersects a pair of parallel lines, the

interior angles on the same side of the transversal are supplementary.

= > e i
3\ ] | need to show that 23 and 25 are
. g & fupplementary.
\’ .
Since the lines are parallel, the
/1= /2 thorrespondmg angles are equal.
_
/2 4+ /5= 180° -....| These angles form a straight line,
so they are supplementary.
.
e
o oo ) oince £2 = £1, | could substitute
Eiibesas 160 £ 1 for 22 in the equation,
. & . ]
L1 =23 - Vertically opposite angles are
equal. Since £1 = 23, | could
/3 4+ /5= 180° sul::-stljcute £3 for £1in the
| equation.

M}' conjecture is prnvcd.
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In Summary p. 78
Key Idea

* When a fransversal intersects two parallel lines,
i) the corresponding angles are equal.
i) the alternate interior angles are equal.
i) the alternate exterior angles are equal.
)

iv) the interior angles on the same side of the transversal are supplementary.

la=eb="Ff
c=gd=h
iije=fd=e
iija=hb=g
iv)c + e = 180"
d+ f =180
Need to Know

e |f 3 transversal intersects two lines such that
i) the corresponding angles are equal, or
ii) the alternate interior angles are equal, or
i) the alternate exterior angles are equal, or
)

iv) the interior angles on the same side of the transversal are
supplementary,

then the lines are parallel.

10
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Homework...

b. 72: #4-6
/

p. 78: #2,8, 10,12, 20

November 20, 2017

11
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Intro to Environmental Science 120

Review — Unit #2

cell

tissue

organ

organ system
- nervous

- integumentary
- respiratory

- digestive

- excretory

- skeletal

- muscular

- circulatory

- endocrine

- reproductive

- lymphatic/immune

ecology
ecologist
organism
species
population
community
ecosystem
biome
biosphere
biotic factor
abiotic factor
habitat

niche
sunlight
photosynthesis
reactant
product
chemosynthesis
autotroph
heterotroph

- herbivore

- carnivore

- omnivore

- detrivore

- decomposer
- scavenger

energy
food chain
food web
trophic level
owl pellet
ecological pyramids
- energy pyramid
- biomass pyramid

- biomass
- pyramid of numbers
species interactions
- direct/indirect
- predation

- predator

- prey
- competition
- parasitism

- parasite

- host
- mutualism
- commensalism
adaptation
symbiosis
co-evolution

nutrient

mineral nutrient
non-mineral nutrient
macronutrient

- primary

- secondary
micronutrient
water/hydrologic cycle
- surface runoff

- precipitation

- condensation

- percolation/infiltration
- capillarity

- evaporation

- transpiration

- ground water

carbon cycle

- carbon dioxide

- oxygen

- respiration

- photosynthesis

- combustion
phosphorus cycle

- inorganic compounds
- phosphates

- plants

- animals

- decaying/fecal matter
nitrogen cycle

- atmospheric nitrogen
- nitrates

- nitrites

- ammonia

- plant protein

- animal protein

- lightning

- bacterial action

- nitrogen fixation

- absorption by plants
- eaten by animals

- decay of dead material

- break down of feces and urine

environmental

problems disrupting

natural cycles

- radioactive
contamination

- pollution of
oceans

- depletion of fish
stocks

- use of fossil fuels

- draining of
underground
aquifers

- clearing of forests

- use of fertilizers and
pesticides

species at risk

- extinct

- extirpated

- endangered

- threatened
. g‘)e(.u\ wNLern

- e daficiont
- nof at sk
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14.

15.

16.

17:

18.

Be able to define each term on the previous page.

What are the levels of organization in a multicellular organism?

State the functions of the eleven organ systems in a human.

What are the levels of organization studied by ecologists?

Be prepared to provide information regarding the biome covered by your travel
brochure.

Be able to provide two biotic factors and two abiotic factors.

Choose an organism and describe its niche in its ecosystem.

What is the main energy source for life on Earth?

How does energy move through an ecosystem?

_Write a balanced chemical equation for photosynthesis.
. Draw a concept map for the types of organisms discussed in class.
. Study the food chain below. Identify the trophic level occupied by each

organism.

marsh grass -> grasshopper -> mouse -= hawk

. Review the background material on owl pellets provided with the owl dissection

handouts.

a) Name three types of ecological pyramids.

b) What types of pyramids can be inverted?

Name five types of species interactions. Be able to give an example of each
and/or identify the type existing between two organisms given background info.
a) Be able to draw a concept map for the types of nutrients discussed in class.
b) How do nutrients move through an ecosystem?

¢) Be able to label a diagram of the water (hydrologic) cycle.

d) Be able to state the processes involved in the carbon cycle.

e) Be able to draw a concept map for the nitrogen cycle.

List seven environmental problems, caused by humans, which disrupt natural
cycles.

There are | levels of risk for species. What are they?
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Review - Test #2

Fame:
Date:
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Across

1

1

-

14

18

2ach organism can ke harmzd Ly this
type of species interaction

a group of differznt types of tissues that
work together to perform a sinale
function

animals, fungi and bactziia

invalves a serizs of steps inwhich
organisms transfer en=rdy [y ating and
lieing eaten

a type of factor in an 2cosystzm (i=f
temperature)

unigue rale of a specizs within an
scosystem

muscle, epithelial, nerve and connective
are examples

0 group of organisms so similarto ane

another that they can breed and produce
fertile offspring
number of argan systems in the human
hody

the scientific study of interactions amand
organisms and betwezn organisms and
their enviranment (surroundings)

Down

5

)

10

12

13

14

18

16

18
g3

o

3 single living thing

group of individuals that palang to the
same species and live inthe same arza

al feeding lave
enerdy through an =cosystem
the interaction between a coyoter and
deeris an example of this type of
specizs interaction
extends from about & km above Earth's
surface to as faras 11 km bl
surface ofthe ocean

tick.flea artapeworm

nutriznts through an
zcosystem
an essential element

3 collection of different populations that
live together in a defined ares

a collection of all the organisms that live
in a particular place togsther with their
nonliving, or physical environment

17 relationship in which both organisms

lznefit

kasic unit of all forms of living things
percentage of energy that moves fram
one trophic level to the nest
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Section 7 In class Assignment.notebook

Chapter 7 . .
In class Assignment Name :

1) For each unknown angle, identify the measurement of the angle AND the property you used to solve it:

759
2) c) a
b
S
60°
Answers: Answer(s: ) Answers:

s ) g

4= ( ) 2x-10=

b=__ ( ) x+15=

f) 600
d) 3x+ 10 e) 574
2 _c/d
X+ 40
Answers: ( ) Answers: Answers:
b o R
3x+10=
X+40 =
b=__ ( )
h)
9 a/Ne
. d
b 3
df520 48 S

Answers: Answers: Answers:
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65° 1 40°
a o c
Answers:
Y NN
m) = > v
W N\ X /f48°
Ll

Answers:

k)
2x+3
4x+15
L
Answers: ( Answers: (
X=___ y=
2x+3 = 2y=_
4x +15= 3y=
7
w
Answers: Answers:
x=__
S5x13°=___
722 ly
a=._ .t )

s
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Assignment - Logical Reasoning Name:
Foundations of Math 11 November 2017

INSTRUCTIONS...

Answer each of the following problems in the space provided. You MUST clearly show your
reasoning along with ALL of your work in solving the problem!

rrostev#1: MMVHS Triecks OR Tredts

This Halloween five MVHS teachers went out TRICK or TREATING on
McKenna Ave. From the information given below, can you work out which

scary costume each teacher wore, the number of the house and the type of
TREAT given by the house to avoid a TRICK!

CLUEs???
~ My, Svare was given a Snickers bar at a house with 2 number lower than the one that Mr. Stewart was at.
~ Mr. Stewart was not the teacher dressed as Minnie Mouse, whe was given a Kit Kat bar.
- My, _Hanihan, dressed as a 'skeleton, visited 2 house numbered two less than that where Barneg knocked
oh t'he dbbr.
~ My, Savage was at house number 13, but unluekily was net given a Mars bar,
~ Mr. Watters was not at house number 8,
~ SpongeBob was at house number 5.
~ The householder at number 11 gave out Twix bars,
{MISSING CLUES FOR HOUSE H3, SMARTIES TREAT AND FRANKENSTEIN]
COMPLETE EACH OF THE FOLLOWING...

House Number Teacher Costume Treat

EXPLAIN your reasoning and show all your work below!






PROBLEM #2: Counterfeit Coin™?

A banker thinks she has 8 gold coins, which she has received from an Irish
Leprechaun. However, there are in fact only 7 gold coins because one of them is
counterfeit. The counterfeit coin is much lighter than the other gold coins and cannot
be identified without using a scale balance.

A) How can you use the scale balance TWICE and be guaranteed that you have
correctly identified the counterfeit coin?
(Must be clearly explained...use diagrams if needed)

B) Suppose the banker had 15 gold coins with one of them being counterfeit.
How could she identify the counterfeit coin using...
(i) the scale balance as least as possible?

(ii) Are there more than one possibility? EXPLAIN.






PROBLEM #3: Missing Phone Nomber™?

Given the following clues, determine the missing phone number: The
first three digits appear in descending order with a sum of 18 and a
product of 210. The final four digits consist of three primes in ascending
order surrounding a composite number in the second-to-last position.
These four digits have a product of 336.

ANSWER EACH OF THE FOLLOWING...

- What is the missing phone number?

- EXPLAIN your reasoning and show all your work below!
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Geometric Proofs... The "Two-Column Proof'

Key Terms (in your notes)...

deductive reasoning proof transitive property

If two quantities are equal to

Drawing a specific conclusion A mathematical argument _
through logical reasoning showing that a statement is the same quantity, then they
by starting with general valid in all cases, or that no are equal to each other.

assumptions that are known counterexample exists. ifa=bandb=cthena=c

to be valid

TR N\ _STATEMENT [ JUSTIFICATION _

A presentation of a logical
argument involving deductive
reasoning in which the
statements of the argument are
written in one column and the

!'ustiflcations for the statements

Q(} written in the other columy
| |}

***ADD this one to your notes...

f’c::nverse \

A statement that is formed
by switching the premise and
the conclusion of another
statement.

N S/

EXAMPLES...

Conjecture: Ifitis raining outside, then the grass is wet.

CONVERSE: If the grass is wet, then it is raining.

THEOREM: If you have parallel lines, then the corresponding angles are equal.

CONVERSE: If the corresponding angles are equal, then the lines are parallel.
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